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® Va2 =la|=a

@ (-va)*=a

® - V(-a)? = - Va? = ~Ja| = -a
® (Va)’ =a

® -Va2 =~la| = -a
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V6x6x2+2V2x4— V5Ex5x%2
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o3 2= AlETR9] dRolt, o2 5 Fol%l BE o]8sto] +&
T gle A2
Tl 0 1 2 3
1.5 1.225 1.229 1.233 1.237
1.6 1.265 1.269 1.273 1.277
1.7 1.304 1.308 1.311 1.315
1.8 1.342 1.345 1.349 1.353
1.9 | 1.378 | 1.382 | 1.386 | 1.389
D V162 @ +0.0192 ® 17200
@ 180 @«/0.00152
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@® V162 = V1.62x 100 = 10V1.62 = 10 X 1.273 = 12.73
/1.92 V1.92
Vv0.0192 = {/ — = ——— = 0.1
@ +0.019 100 10 0.1386
® V17200 = V1.72 x 10* = 100 V1.72 = 131.1
@ V180 = V1.80 x 102 = 10V1.80 = 13.42

15.2 V15.2
® +0.00152 = \/—10000 TN




